
　反射テスト　割合　百分率％　01

1. 　次の 　　 をうめよ.（ S級 15秒, A級 25秒, B級 35秒, C級 50秒 ）

（1）　Aの 10％ = A × 　　 （2）　A × 0.75 = A の 　　 ％

（3）　Aの 115％ = A × 　　 （4）　A × 0.5 = A の 　　 ％

（5）　Aの 35％ = A × 　　 （6）　A × 0.82 = A の 　　 ％

（7）　A × 0.052 = A の 　　 ％ （8）　Aの 19.2％ = A × 　　

（9）　Aの 2500％ = A × 　　 （10）　A × 13 = A の 　　 ％

c⃝ 数学・算数を楽しむために（ http : //www.enjoymath.sakura.ne.jp/index.html ）　

http://www.enjoymath.sakura.ne.jp/index.html


2. 　次の 　　 をうめよ.（ S級 15秒, A級 25秒, B級 35秒, C級 50秒 ）

（1）　Aの 20％ = A × 　　 （2）　A × 0.35 = A の 　　 ％

（3）　Aの 124％ = A × 　　 （4）　A × 0.6 = A の 　　 ％

（5）　Aの 54％ = A × 　　 （6）　A × 0.81 = A の 　　 ％

（7）　A × 0.049 = A の 　　 ％ （8）　Aの 25.2％ = A × 　　

（9）　Aの 1800％ = A × 　　 （10）　A × 9 = A の 　　 ％

c⃝ 数学・算数を楽しむために（ http : //www.enjoymath.sakura.ne.jp/index.html ）　

http://www.enjoymath.sakura.ne.jp/index.html


　反射テスト　割合　百分率％　01　解答解説
1. 　次の 　　 をうめよ.（ S級 15秒, A級 25秒, B級 35秒, C級 50秒 ）

★ 1％ =
1

100

（1）　Aの 10％ = A × 0.1

10÷ 100 = 0.1

（2）　A × 0.75 = A の 75 ％

75÷ 100 = 0.75

（3）　Aの 115％ = A × 1.15

115÷ 100 = 1.15

（4）　A × 0.5 = A の 50 ％

0.5× 100 = 50

（5）　Aの 35％ = A × 0.35

35÷ 100 = 0.35

（6）　A × 0.82 = A の 82 ％

0.83× 100 = 82

（7）　A × 0.052 = A の 5.2 ％

0.052× 100 = 5.2

（8）　Aの 19.2％ = A × 0.192

19.2÷ 100 = 0.192

（9）　Aの 2500％ = A × 25

2500÷ 100 = 25

（10）　A × 13 = A の 1300 ％

13× 100 = 1300

c⃝ 数学・算数を楽しむために（ http : //www.enjoymath.sakura.ne.jp/index.html ）　

http://www.enjoymath.sakura.ne.jp/index.html


2. 　次の 　　 をうめよ.（ S級 15秒, A級 25秒, B級 35秒, C級 50秒 ）

（1）　Aの 20％ = A × 0.2 （2）　A × 0.35 = A の 35 ％

（3）　Aの 124％ = A × 1.24 （4）　A × 0.6 = A の 60 ％

（5）　Aの 54％ = A × 0.54 （6）　A × 0.81 = A の 81 ％

（7）　A × 0.049 = A の 4.9 ％ （8）　Aの 25.2％ = A × 0.252

（9）　Aの 1800％ = A × 18 （10）　A × 9 = A の 900 ％

c⃝ 数学・算数を楽しむために（ http : //www.enjoymath.sakura.ne.jp/index.html ）　

http://www.enjoymath.sakura.ne.jp/index.html

